# **InStore Display**





- Spring 2021
- In store March 1<sup>st</sup> 2021
- Range includes tins for parties, adventure,
  sports and dog walking
- Each shelf holds 54 tins







## My Dog Walking Tin

Easy to pop into your pocket or bag when walking your dog. A high quality tin that is lightweight, compact and contains all your dog walking essentials.

- 1 x Emergency Dog Lead
- 1 x LED Micro Torch
- 1 x Small Silver Tweezers
- 6 x Antiseptic Wipes
- 1 x Distress Whistle
- 6 x Doggy Poo Bags
- 10 x Sterile Plasters





### **Golf Survival Tin**

A handy golf tin, never leave home without it. Design to make sure you survive stress free all the way to the 19<sup>th</sup>.

- 1 x Vaseline
- 3 x Wooden tees
- 1 x Sun Cream Sachet
- 1 x Pencil
- 1 x Energy Sweet
- 1 x Set of Plasters
- 2 x Coin Towels





## **Fishing Survival Tin**

The perfect fishing trip companion, Lightweight and compact to fit in your pocket or tackle box practical tools you can count on in any weather, altitude, or survival condition,.

#### **Contents**

- 1 x Foil Blanket
- 1 x Mini Fishing kit 4 weights & hooks
- 1 x Nylon Cord
- 1 x Barley Sugar
- 1 x Tea Light Candle





Knife removed from set

#### **Adventure Tin**

Designed to encourage anyone and everyone to go and discover the outdoors for possibly the first time! Step away from the technology and become creative in your own Adventure! (even if it starts off in your back garden!)

- 1 x Real Army Dog Tags
- 1 x 30g Camouflage Cream
- 1 x Distress Whistle
- 1 x Pencil & Waterproof Paper
- 1 x LED Micro Torch
- 1 x Nylon Cord
- 1 x Button Compass
- 1 x Thermometer
- 1 x Mayday Signalling Mirror





## **Hangover Relief Tin**

The Hangover Relief Tin for surviving the day after the night before. Perfect for after parties, BBQ's and all other social events.

- 1 x Sick Bag
- Set of ear plugs
- 1 x Small Silver Tweezers
- 1 x Folding Toothbrush
- 1 x Kendall Mint Cake
- 1 x Sachet of Coffee
- 1 x Barley Sugar
- 2 x Plasters





## **InStore Display**



Code	Product	RRP	Units Per DQP	Total RRP
ADV053	Dog Walking Tin	£11.99	54	£647.46
ADV059	Golf Survival Tin	£11.99	54	£647.46
ADV055	Hangover Relief Tin	£11.99	27	£323.73
ADV058	Adventure Tin	£11.99	54	£647.46
ADV061	Fishing Survival Tin	£11.99	27	£323.73
			Total RRP	£2589.84

- 1/6 Pallet Small footprint 39 wide x 43 deep x 105cm high
- All made in the UK
- FSDU delivered fully loaded and assembled
- Contents can be changed if required

See our full Gift Tin Range here -

https://www.bcbin.com/Catalogue/Products/Outdoor-Adventure/-

**GIFT-PRODUCTS/Gift-Tins**